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@ 4cm @ 4.5cm

@ 5.5cm ® 6cm

AABC 7} o] 5HAZtgol g
AC = AB = 5¢m




2. ohg oA P =40° € ], zx o] 27]E? (T, AP = AB = BC
)

® 90° @ 95° @100° @ 105° ® 110°

B ~

AAPB + o] g HAIZI Yol B R
/P = /ABP = 40°

/BAC = 40° + 40° = 80°
AABC £ o] 3HAZGo| B R
(BAC = /BCA = 80°

o Lx = 180° — 80° = 100°
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ok 193t 2] Al o] Aol7t A7 Gem, Sem , 10cm 2 47
AABC 7} lth H 1= AABC 9] YAlo] 1l iz o] vx] 52| Aol
2cm ¥ W AABC 9] Ho]&=?

@ 16cm? @ 18cm? @ 20cm?

@ 22cm? ®)24cm?

1
AABC = 2 x2x (648 +10) = 24cm? ©Jct.
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® 6 @7 @ 8 @)9 ® 10

AD = AF =29|2, BD = BE = 5°]t},
CE=AC-AF =6-2=40°0|E&
BC=BE+EC=9
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® PQ=PZ (@)APZQ = (PZR
® PQLPR @ QrR=QZ
® (PRZ = /PZQ
@ olTHHZAF Y FEX|ZH9] o]z AL ¥ S & o] F &t

(PZQ = /PZR = 90°
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@ 3cm ® 4cm

® 5em @ 6cm @7cm

o

/DAB = /BAC (%©°]
/DAB = /ABC (37}
. /BAC = /ABC
w2bA AABCE 27t
Folrt.

. AC=BC = 7(cm)
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9] 27|17} 23, AC = BC Yl o] 5447
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® ABEO = ACEO @ AF =CF

® OA=0B=0C @ /DAO = /DBO
@) FoA = DOA

(FOA = /FOC




& 28olA H 0 & «C = 90° 1 A 723 ABC 9] "W
Z3oltt. /OCB : /OCA =2 :3 4 o, /x & 275 F5tot.

A

D 105° @ 106° @ 107° @108° ® 109°

B ~

21 Zkarzt o] HiH ol 49l H 0 & 94o] Fl2=&8 OB =
OA = OC o|t}.
/OCB: /OCA =2:39°|B=2

2 o __ 2 o ___ o
/OCB = 2Jr3><90 = 5><90 = 36
LOCA = 3 X 90° = §><90° 54°

T 243 5

AOBC = o|5H4Zgol2& (- OB = 0OC) OBC =
/OCB = 36° ]2
A7+ Y Zhe] 3.719] go] 180° ©] B2 /BOC = 180° — 36° —
36° = 108°




10. o5 2"lA H 1 ' = 242 aABD, aADC 9] Yielth. /B =
40°, £C =60° & f, ZIAI" ©] 37]=7

@® 20° @ 30° @40° @ 50° ® 60°
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Foltt. F A B, ColM A A E Av=
24 1o W e we 27 D, E o
&tzt. AB=10,DE =2 ¢ o], BD- CE
o] gk
@2 @25 O3 @ 35

AABD = ACAE (RHA &5F)clB=2
BD = AE, CE = AD
~BD-CE=AE-AD =2
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A4S ABCD ©|A BE = CF ©]1L AE 9} 4, oD
BF o] 24& G 8 & o, /\GBE + /BEG 9]
A71E?
F
@ 70° @ 80° @90°
B Lc

@ 100° ® 110° E

B

AABE = aABCF (SAS 3%)

/GBE = /FBC = /EAB , /GEB = /AEB = /BFC, /EAB +
(BFC = 90°

. 90°




13. o2 I"HY AABC oA /B=35°,/C=65°°]1, 04 HI=
ZYZY AABC 9] QI WA o, zx o] 27]& oot

® 10° @ 12° 3@)15° @ 18 ® 20°

B

dOoeHCEILH,

i) /B =35°°]B& /AOC = 70°, LOAC = %(180" ~70°) =
55° -. LOAC = 55°

i) ZA = 180°—(35°+65°) = 80° | 2& /IAC = %XSO" = 40°
Lx = LOAC — /IAC = 55° —40° = 15° . /x = 15°




14. t©te IHoA AABC = /ABC = 90° ¢l AZHt7H o)1, gACDE
© Aapztdolet. AR = %TC JACB — 30° 9 T, /EFA ©] 372
Ftolat

B 30°

@® 55° @ 60° ® 65° @ 70° ®)15°

B ‘

(BAC = 60°
AB £ AC & @ Wo2 sht A4zge) @ el Zole) |
o,

E:%Eﬂﬂiﬁ:ﬁ

(EAB = 90° + 60° = 150°
/AEB = (180° - 150°) + 2 = 15°
/BFC = /EFA = 180° - (90° — 15°) — 30° = 75°
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® 50°

OA = OBo|EZ /OBA = x
(AOC =2 x /ABCo|E &
(x +20) x 2 = 100, x = 30
.. /BAO =30°




